

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss

Suite 600

Houston, TX 77057-1264

Invoice Number: 145340

Invoice Date: Aug 27, 2014

Page: 1

46734 Page: 64,327.06SEP 1 11 2014

APPROVED SEP 0.9 2014

Customer ID	Field Ticket #	Payment	Terms
Land	55308	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS2-02	Russell	Aug 27, 2014	9/26/14

Quantity	Item	De	scription	Unit Price	Amount
1.00	WELLNAME	Nicholson Unit #11-30	STORE DOSSES, MICHAEL BARRIES AND		
150.00	CEMENT MATERIALS	ASC		23.50	3,525.00
395.00	CEMENT MATERIALS	Light Weight		19.88	7,852.60
750.00	CEMENT MATERIALS	Gilsonite	252 1 1 2014	0.98	735.00
25.00	CEMENT MATERIALS	Defoamer	SEP 1 0 2014	9.80	245.00
198.00	CEMENT MATERIALS	Flo Seal		2.97	588.06
500.00	CEMENT MATERIALS	Mud Flush		0.98	490.00
	CEMENT MATERIALS	CCL		34.40	172.00
545.00	CEMENT SERVICE	Cubic Feet Charge	Λ	2.48	1,351.60
485.00	CEMENT SERVICE	Ton Mileage Charge		2.75	1,333.75
	CEMENT SERVICE	Production Bottom Stage	PV st	2,765.75	2,765.75
	CEMENT SERVICE	Production Top Stage	1, 1, 2, 2, 7	2,406.25	2,406.25
	CEMENT SERVICE	Light Vehicle Mileage	APPROVED SEP 0 9 2014	4.40	88.00
	CEMENT SERVICE	Manifold Rental	VEDBUNED SEP 0 9 2014	275.00	275.00
40.00	CEMENT SERVICE	Heavy Vehicle Mileage	Arns o o and	7.70	308.00
	EQUIPMENT SALES	5-1/2 AFU Float Shoe		545.00	545.00
1.00	EQUIPMENT SALES	5-1/2 Latch Down	1, 127706	660.00	660.00
1.00	EQUIPMENT SALES	5-1/2 Stage Tool	\$64,327.06	5,335.00	5,335.00
	EQUIPMENT SALES	5-1/2 Basket		395.00	790.00
11.00		5-1/2 Centralizer		57.00	627.00
1.00		Robert Yakubovich			
		3 20 20 20 20 20 20 20 20 20 20 20 20 20			Continued

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Sep 26, 2014

Subtotal Sales Tax Total Invoice Amount Payment/Credit Applied TOTAL

.000

Continued Continued 0 = 0 Continued

Continued

23 - 895 - 984





PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss Suite 600

Houston, TX 77057-1264

2

Invoice Number: 145340

Invoice Date: Aug 27, 2014

Page:

Customer ID	ustomer ID Field Ticket #		Payment Terms		
Land	55308	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS2-02	Russell	Aug 27, 2014	9/26/14		

Quantity	Item		Description	Unit Price	Amount
1.00	EQUIPMENT OPERATOR	Nathan Donner	WEST PRESSE THE PLOT SEGMENT OF THE PROPERTY O		
1.00	EQUIPMENT OPERATOR	Kevin Rupp			
1.00	OPERATOR ASSISTANT	Tracy Jordan			
					20 002 01

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

5,533.99

ONLY IF PAID ON OR BEFORE Sep 26, 2014

Subtotal	30,093.01
Sales Tax	1,326.23
Total Invoice Amount	31,419.24
Payment/Credit Applied	
TOTAL	31,419.24

ALLIED OIL & GAS SERVICES, LLC Federal Tax 1.D.# 20-5975804 055308

REMIT TO	P.O. BOX 31
	RUSSELL, KANSAS 67665

SERVICE POINT:

1000	LLL, MA	113/13/070					K 6552	11 KS
DATE 8-27-14	SEC.	TWP.	RANGE 20	CALLED OUT	ON LOC	ATION	JOB START	JOB FINISH 7:00 PM
Wicholson		11.20	20 Mg	VC 01/ /	- ((.	, .	COUNTY	STATE
LEASE Unit	WELL#	11-30	LOCATION E11.5	KJ 8/2N	2 /2 W		6/1.5	K5
OLD OK NETS(Cir	cle one)		Winto	The same of the sa]	
CONTRACTOR	Parts.	. 16		OWNER				
TYPE OF JOB 💤		1=50	1					
HOLE SIZE 77	8	T.D		CEMENT				Name of the last
CASING SIZE 5/2	2 15,5	DE	PTH 400 2	AMOUNTO	RDERED /	150 1	15C15#91	Isantra/st
TUBING SIZE			PTH	395 st	Alled	1; +	en vice	
DRILL PIPE		-	PTH -	_				
TOOL stage 7	001		тн 1700	<u> </u>				
PRES. MAX			MUMIN	_ COMMON_			_@	
MEAS, LINE	000	SHO V/2	DEJOINT 42	POZMIX _			_@	-
CEMENT LEFT IN	CSG.	7 6		_ GEL			_@	****
PERFS. DISPLACEMENT	G	4 600	1 40 74	_ CHLORIDE	150		@ @ 23.50	35 25-00
DISTLACEMENT			7077	- ASC		75	@ <u>23.30</u> @ <u>19.8</u> 9	7852.60
	EQU	HPMENT		Gilson: R			@0.98	735.00
				De Conn	· - 'Y	25	@ 7.30	241.00
		ER Robe		- fla 5=, 1	/	18	@ 2.97	588.0G
	HELPER	Natha	1 m D	- Mud Plus		99-1	@ 0.78	490.00
BULK TRUCK			n	CCL		19/	@34.40	172.00
	DRIVER	Kevin			mill			13607.66
BULK TRUCK	_101.0	-		10	(10)	w	@ 3401.91	
# 895-188 [DRIVER	Tracy	<u> </u>	- HANDLING	545 56	3	@2.48	1351.60
				MILEAGE 4	85 4/	4	2.75	1333,75
	RE	MARKS:					TOTAL	16777 11
		.,		2 V	1			n "" g
				-	ì	SERVI	CE	
ser log					- 1		U	
0:00.1.1	45 -6	. 40 -	it on top	DEPTH OF JO			4002	
CHERTERA	10 3%	10 p	er on lop	PUMP TRUC EXTRA FOO		E	2765.7	<u>) </u>
Stage		Les any market		MILEAGE 2		Y	@ @4.40	88.00
						<u>>L</u>	@275.00	275.00
-77	at	You	111	- MANIFOLD.	IVMI		@7.70	308.00
		65		Znd stag				2406.25
CHARGE TO: Lan	1	10.		- ENG STAY			_ C PTO PIES	8528.35
CHARGE TO: LAN	of mar	L RES	oares, inc	- 71	!	50	TOTAL	5843-00
STREET				Lles	w 2732	(,08	IOIAL	3 6 13 V C
CITY	ST.	ATE	ZIP	_	100000000000000000000000000000000000000			
					PLUG & I	FLOAT	EQUIPMEN	IT
				ril . C	1500 19		0.700	CVC +-
								515.00
					teh doi		@ 623C C	5335.00
To: Allied Oil & G					tage to	(2)		790.00
You are hereby req	juested to	rent cem	enting equipment			111	@57.00	
and furnish cemen	ter and h	elper(s) to	assist owner or	we are	11/4/16/		97,10	300
contractor to do we	ork as is	listed. Th	e above work was					7957.00
done to satisfaction	n and sup	pervision o	of owner agent or	20		17	TOTAL	(C) 0 (0)
contractor. I have	read and	understar	nd the "GENERAL	011 00 01 22	/15 A			
TERMS AND CO	NDITIO	NS" listed	on the reverse side	SALES IAA	80 0.5000 oc	,		
	111	, ,	1 11	TOTAL CHA	rges _ 3	0,09	130/_	67 E
PRINTED NAME	Thom	p3 5,	hmidt	DISCOUNT	4533	99	1 76 112 111	D IN 30 DAYS
TRIN LED NAME	01	v /L.		_ DISCOUNT	1		II/1/AI	D MI,OU DINIO
OLON ATURE	Male	neur	nu)	het tra	4137.6	10		
SIGNATURE	J			-				**
						•		



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Landmark Resources, Inc. 1616 S. Voss

Suite 600

Houston, TX 77057-1264

Invoice Number: 145184

Invoice Date: Aug 21, 2014

Page:

1

APPROVED SEP 0 8 2014

PU. 9/10/14 11/30 64,327.06

Customer ID	Field Ticket#	Payment Terms Net 30 Days		
Land	55305			
Job Location	Camp Location	Service Date	Due Date	
KS2-01	Russell	Aug 21, 2014	9/20/14	

Quantity	ltem		Description	Unit Price	Amount
1.00	WELL NAME	Nicholson Unit #11-30		300000000000000000000000000000000000000	
150.00	CEMENT MATERIALS	Class A Common	CED I II and	17.90	2,685.00
282.00	CEMENT MATERIALS	Gel	SEP 1 U 2014	0.50	141.00
423.00	CEMENT MATERIALS	Chloride		1.10	465.30
150.00	CEMENT SERVICE	Cubic Feet Charge		2.48	372.00
141.00	CEMENT SERVICE	Ton Mileage Charge		2.75	387.75
1.00	CEMENT SERVICE	Surface		1,512.25	1,512.25
20.00	CEMENT SERVICE	Light Vehicle Mileage	SEP 1 0 2014	4.40	88.00
40.00	CEMENT SERVICE	Heavy Vehicle Mileage	2014	7.70	308.00
1.00	CEMENT SUPERVISOR	Robert Yakubovich			
1.00	EQUIPMENT OPERATOR	Nathan Donner			
1.00	EQUIPMENT OPERATOR	Kevin Rupp			
	P	H643477.06	0·* 6·161·71+ 1·787·79- 000 4·373·92*+		
ALL PRICE	S ARE NET. PAYABI F	Subtotal	1		5,959.30

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,787.79

ONLY IF PAID ON OR BEFORE Sep 20, 2014

Sales Tax 202.41 Total Invoice Amount 6,161.71 Payment/Credit Applied TOTAL 6,161.71

ALLIED OIL & GAS SERVICES, LLC 055305 Federal Tax I.D.# 20-5975804

REMITTO P.O. E RUSS		NSAS 676	65		SER	VICE POINT:	
DATE 8-2/-/4	SEC.	TWP.	RANGE 20	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
Nicholson LEASE UNI		11-30		5 K5 81/2N	2%レ	COUNTY	STATE
OLD OK NEW (CI	rcle one)		N: ato				1 -0
CONTRACTOR A	14/5	n 16		OWNER			
HOLE SIZE 12	(s	TD	220	CEMENT	•		
CASING SIZE 85		DEI	025 HT		rdered <u>150</u>	com 3%	15 2 / Spel
TUBING SIZE DRILL PIPE		DEI DEI					***************************************
TOOL	************		PTH				
PRES. MAX			IIMUM	COMMON	150	@ 17-90	2685.00
MEAS, LINE			DEJOINT 15	POZMIX		@	
CEMENT LEFT IN PERFS.	CSG.	15		GEL _	285 €	@ 150	191.00
DISPLACEMENT		ڌا	2///	CHLORIDE	423:0	_@ <i>], O</i>	465,30
DISTERCEMENT	EOI		64/	ASC		_@ @	
	EQU	JIPMENT		YM	aterial		3291.30
PUMP TRUCK (PEMENT	ER Rober	, ,			- G : (0	. 2271.30
		Natha			Llese	@ 987.3	9
BULK TRUCK	ILLI LIK	Mathe	3-11			·@	
# 4/0 I	DRIVER	Kevin	P				•
BULK TRUCK							
<u># I</u>	DRIVER			- HANDLING	150 cks		372.00
				MILEAGE L		2.75	387.75
Ç.	RE	MARKS:				•	4651.05
see log					SERVI	CE	
				DEDTU OF 16			
Sirculated	20.	sts to	nit	DEPTH OF JO PUMP TRUCK		15/2,2	
			7.	EXTRA FOO		@	<u>J</u>
					20 LUMI		88.00
	7 1		, ,	— MANIFOLD_		@	
-1	hant	you!	4.	40 H	IMI	@7.70	309.00
cui paper I	1	1 0				_@	011015
CHARGE TO: Ls.	OMER	EKE	Sources				2668,00
STREET				_ Llise	800.40	TOTAL	1508.25
CITY	STA	ATE	ZIP	100 CO.			
					PLUG & FLOAT	EQUIPMEN	IT
				Marie Control of the		_@	
T A111 . 1 O11 0 . C		***				_@	
To: Allied Oil & G						_@ @	
You are hereby requand furnish cemen	ter and b	olpor(o) to	enting equipment			 _@	12 3 14 17 5 5
contractor to do we	nrk as is i	listed The	assist owner or	•			No.
done to satisfaction						TOTAL	
contractor. I have							1931/81/5/8
TERMS AND CO				le SALES TAX (If Any)		_
	4			TOTAL CHAR	RGES 5959.	30	
PRINTED NAME_	AT.	-1					ger minist
MINTED NAME_	///	41	.			30 GERAL	D IN 30 DAYS
atasumus /	\sim	0.000=0	20	net \$ 4	171,51		1 1 1 1
SIGNATURE	مرنط	رحك	- Will	_ 1101 1	.,.		
		7					· : : : : : : : : : : : : : : : : : : :
							4 4